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Triangle Proofs Notes (Perpendicular)

Perpendicular:

Given: AB L DE

Statement Reason
A
E
B
Right Angles:
Perpendicular Bisector:
Given: HG is the perpendicular bisector of Fl.
4 Statement Reason




19, Given: AB=DE , BC=EF, and «B=£E

AN

F 2 Cpop F

Prove: AABC=ADEF

21. Given: JK=MN, KL=NO
K N

Prove: AJKL=AMNO

23,
Given: £P=¢S, £Q=4T, and QR=TU

T

P R S u
Prove: APQR=ASTU
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20. Given: PQ=TU, £P=¢4T and £Q=2U

_ T
U
P
R S

Prove: APQR=ATUS

22. Given: AB=DF, BC=DE, and AC=EF

Prove: AABD=AFDE

24.

Given: £)=£M, JK=MN and2K=«N

K M
0

I L N
Prove: AJKL=AMNO



Naynef —

25. Given: AB=CD, 2ABD=<CDB

B

A D

Prove: AABD=ACDB

27. Given: L

=
n

J

K M

I
Prove: ALKM=A]KM

29,
Given: PS=QR, PQ=SR
P Q
S R

Prove: APRS=ARPQ
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P

Q

Prove: AABC=ADBC

28. Given: AB=ED, 2A=,D

A

Prove: AABC=ADCE

Derte.

26. Given: PR=TR, £P=2T

30. Given: JN Bisects ML, zM=¢L

I

M

Prove: AMJK=ALNK

L




31. Given: C is the midpoint of AE, BA=DE,and 32. Given: Ris the midpoint of BT, 2P T, and

2A=/,E £PRQ=£TRS
Q S
C
A P T
Prove: AABC=AEDC Prove; APQR=ATSR
33, Given: KAKELN, ]‘=q~l, KL=NO 34. Given: BA|jCD £ADB=£CBD
B
J A L A L
Prove: AJKL=AMNO Prove: AABD=ACDB
35. 36.
Given: PQRS is a parallelogram Given: KN bisects JM, ]'R;HM_N
P Q
N
R S J
Prove: ARPS=AQSP Prove: AJKL=AMNL
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Proof Poster Activity

You will make a poster of a proof on 11x14 paper.
On the poster, you should include...

* the diagram
« the given information
» what you are trying to prove

» a 2-column proof with statements and reasons
that show why the triangles are congruent

Feel free to be creative and add color! However,
the most important thing is that your proof is
complete and correct!

Given: HJ || GK; HJ = GK #1
Prove: AGHJ = AJKG

H J




#2

Given:
E is the midpoint of BD;
A B
2A = C
Prove: AABE = ACDE
E
D C
#3 Given:
M PM bisects <NPQ:
NP = QP
Prove: AMPN = AMPQ
N Q




B

Given: AB =CB:
D is the midpoint of AC
Prove: AABD = ACBD

#5 W

Y X Vi

Given: WX 1L YZ:

WY = WZ
Prove: AWXY = AWXZ



#6

/

D

Given: AB is the perpendicular bisector of CD;
2C= 4D
Prove: AACE = ABDE



